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— Instructions: De5|g|1alc the best answer for each of the following ques‘lvtlons ( é%j_( 25, :+ 3e )

1.

In a period of rising prices, the inventory method that lesulls in lhe lowesl
income tax payment is

a. LIFO.

b. FIFO. o

c. average cosl. : v

d. specific identification. ‘

The inventory methods hat result in the most current cosls lh the balance

sheet and income sfatement are

Income Slatement Balance Sheet

a. FIFO FIFO

b.  LIFO | FIFO o
c. LIFO LIFO ( ‘
d. FIFO LIFO B

enrbe

When Lhe allowance method i is used for bad dcb(s lhc enlly lo wnle off an
.individual account known (o be uncollectible |nv0|ves a
a. debil Lo an expense account.

b. credit to an expense account.

c. credil to the aliowance accounl.

d. debil to the allowance account. .
Adler Comp'\ny has a $450,000 balance in /\ccounls Recelvable 'md a
$6,000 debil balance in Aliowance for Doublful Accoun(s Cledll sales for
the period (otaled $2,700,000. Whal is the amount of the b'\d dcb( adjus(mg
enlry il Adler uses a percentage of credil sales b'\Sls (al 2%) or a pc1 cenlage
of receivables basis (at 10%)7

% Credit Sales % Receivablés 3
a. 354,000 $45,000 s
b. $60,000 $39,000
c. $54,000 $51,000 .
4. $48,000 $39,000 -
Harder Company's records show the followmg fon the monlh ofJanualy
Total Owner's Equity al Januvary b ..o $200,000
Total Owner's Equity at Janvary 31 300,000
Tolal REVENUES ..oocviiiiiiiiiie it -335,000
Total Wllh(llawals by OWDECE i IS 000

There were no investmenls made during January. Tolal expenses for
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January were

a. $320,000.
b. $335,000.
c. $235,000.

d. $220,000.

Current liabilities are obligations that are reasonably expecled lo be paid
ftom

Existing Creation of Other

Current Assels Current Liabilities
a. No No
b. Yes Yes
c. Yes No
d. No Yes

. Fran’s TFashions bought machinery at a cost of $240,000 on January 1,

2000. On January 1, 2002, they decided to switch from the slraight-line to
the double-declining- balance method ol depreciation. The machinery has
no salvage value and an cight ycar uscful life. The cumulative effect of this

change in accounting principle beflore income taxes is

a. $30,000.
b. $60,000.
c. $105,000.

d. $45,000.

. Molier Manufacturing dectared a 10% stock dividend when it had 250,000

shares of $3 par value common slock outstanding. The market price per
common share was $12 per share when the dividend was declarcd. The
enlry Lo record this dividend declaration includes a credit lo

a. Relained Earnings of $75,000.

b. Paid-in Capital in Excess of Par for $225,000.

c. Common Stock for $75,000.

d. Common Stock Dividends Distributable for $300,000.

. Kiner Corporation issued 400 shares of $25 convertible preferred stock for

$10,000. Each share of preferred slock was converlible into one share of
$10 par value common stock. The enlry to record the conversion of sixteen
shares ol converlible preferred stock into common stock includes a credit
to

a. Paid-in Capilal in Excess of Par on Common Slock for $400.

b. Paid-in Capilal in Excess of Par on Preferred Stock of $800.

¢. *Common Stock for $320.
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d. Preferred Stock for $800. - e
10. Restrictions of retained earnings . :
a. are reported on the balance sheet as liabililies, ** /"7t 5 0
provide insurance coverage for conlingencies. et
c. do not change total stockholders' equity.
d. are reported as expenses on the income statement, i it
___ L1. Dykes Corporation purchaséd 2,000 shares of Kilc"'conmi(:in’slo‘ck"'a('$570. iv
per share plus $6,000 brokerage fees as a short: lerm mves(menl 'Ihe "
shares were subse-quently sold at $80 per share less $6 800 broken;,c fees

The cost of the securities purchased and gain or loss on the sale were

Cost Gain or Loss ‘ ey, N Gty
$140,000 $20,000 gain ool e ‘
$140,000 $7,200 gain R R A I L ’

$146,000 $7,200 loss

$146,000 $7,200 gain :

. 12, Todd Corporation issues long-lerm bonds at a discount?*Amortizdlion’ of v
the discount will B R

e o ow

A LT T LA S

a. decrease bond interest expense.

b. increase bond interest expense.

c. decrease the carrying value of the bonds on the balance sheet.
d

be reported as a loss on the income statement.

H

cnpend

. 13. Under the equity method of accounting, (he investment in common slock is
initially recorded at cost and (he investment account is subscquently
a. credited for cash dividends received.
b. debited for the investor's share of inveslee net income. (
c. debited for cash dividends received and credited fon the mveslors
share of investee net income, ‘ e

d. bothaandb.

14. The account Unrealized Loss—Income is reported -
a. as a conlra accounl in the stockholders' equity sectioin of the balance
sheet. .
b. in the other expenscs and losses scction of the incoine statement.
c. inthe opcrating seclion of the income statement.
d. as a conlra account in the current asset section of the balance sheet.

15. Bonds payable are converted into common s(ock In recording the

ot
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Instructions: Each of the events below may have an effect on the statement of cash
flows. Designate how the event should be reported within the statement of cash Mlows

using the codes provided below. Codes may be used more than once, or nol at all.

( 2+%% 25, @’f?z()ﬁ)

Codes

A. Invesling aclivily, cash inflow
B.
C. Tinancing activily; cash inflow

D. Financing activity, cash outflow
E.

i

G. Noncash investing and financing activily

Investing aclivity, cash outflow

Operating aclivity; cash inflow

Operating activity; cash outllow

Events

1.

2,

3.

4. Declared and paid a cash dividend

5.

6. Purchased treasury slock for cash

7. Paid cash for 40% interest in another company

8. Recceived interest on a long-term bond investiment

9. Converled bonds payable into common stock

10. Sold a long-term stock investiment for cash at book value

a.
b.
c.

d.

UTTICE LY
(% * % 3%)

additional paid-in capital is nol recognized.

the current market prices of the bonds and common slock are ignored.
the carrying value of the bonds is ignored.

a gain or loss on conversion may be recognized.

Issued checks for the weckly payroll
Paid an account payable

Issued bonds payable for cash

Paid cash for a new car for a traveling salesperson

% 3% % 5RO
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Income Statement

Sales ......... rerrens e eervereeeteresroesirarrinteitsshaarnebge e bre b b e sas et s s paens
Less: Sales returns and allowances ‘ ‘

Net sales ....ccoeceeeenee ST ST SRR OOV PR OUPRRRPP

‘ Cost of goods sold ........... reeererr e tatebeba b renee

\ : .
besesrsestassaasasesserraiosree

Gross profit’ ...

Selling EXPENSEs vvorivivessnsrsrisss il

i Administrative expenses

Income DEfOre INCOME (AXES ivvvvrsrrvcrvssesosrie —

Income lax expense reerereeresianes

NetiNCOME  wevevrrvsrrrrrrsrsee

13
lhekl dl ated ratlo at December 63
e :

Re(um on assets is

D
R N L A BT B AL

2. Acxd test raho is

‘Mkd

Profit margm is
SR

¥ A e
. Payout ratio 1s

5. Debt to total assels ralio is

. Current ratio is

o

6. Assel turmover is co T SRR TR 0 R -
AR PR R
) -. . i ipin 1 “:c % 3 %
7. Receivables turnover is
. . ’ . T INEE N TP % cid 13
8. Price-eamings ratio is ' '
! i
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¥, Instructions:  Given the information provided below, prepare (a) a bank 13 ‘Q}flﬁ 47

reconciliation in proper format, and (b):the necessary journal entries for the month of

24 s
September for Smith Company. ¢ %4 7> 5 ) ¢ "A;'L lé‘
. -7
z)

1. Balance per Bank on September 30—$22,870 '
Balance per Books on September 30—$19,500

Total outstanding checks at September 30—$4,500

Debit memoranda:

a. NSF check [rom Lee Co.—$540

b. Prinling company checks—$60

bl

¢. Payment (o bank of $2,500 note owed bank by Smith plus $300 interest.

5. Credit memorandum: Collection of note reccivible for $3,500 plus $350 interest
less $50 colleclion [ce.

6. Lrrors:
a. A check written this month to Nance Co. for office supplies cleared the bank

at the correct amount of $680, but was recorded by Simith at $860.

b. The bank charged a $210 check of Smythe Company against Smith's account
this month.

7. Deposit in transit on September 30—$1,500.

A Match the items below by entering the appropriate code letter in the
space provided. (Z ,l,‘%'\ 1, %X 20 /73)

A. Merchandise Inventory F. First-in, first-out (FIFQ) method

B. Work in process , G. Last-in, first-out {LIFO) method

C. FOB shipping point H. Average cost method

D. FOB destination I. Inventory turnover

E. Specific identification J. Perpetual inventory system
method

1. Measures the number of times the inventory sold during the
period.

2. Tracks the actual physical flow for each inventory item
available for sale.

3. Goods that are only partially completed in a manufacturing
company .

4. Cost of goods sold consists of the most recent inventory
purchases.

5. Goods ready for sale to customers by retailers and
wholesalers.

6. Title to the goods transfers when the public carrier accepts
the goods from the seller.

7. Ending inventory valuation consists of the most recent
inventory purchases.

8. The same unit cost is used to value ending inventory and
cost of goods sold.

9. Title to goods transfers when the goods are delivered to the
buyer.

10. Accounting records are waintained to show the inventory on
hand at all times.



